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import numpy as np
import cv2

input=cv2. imread ( input. bmp’, cv2. IMREAD_GRAYSCALE)

rows, cols=input. shape
outputold=input. copy ()
outputnew=input. copy ()

weight=np. zeros ((7,7), dtype=np. float64)

for i in range(0,7):
for j in range(0,7):

weight[i, jl=np. exp (- ((

for _ in range (0, 10):
for y in range (0, rows) :
for x in range(0, cols):
sumvalue=0
sumweight=0
for i in range(0,7):
for j in range(0,7):

yy=

XX=

) k24 (

)#k2) / (2%1. 5%1.5))

if

and

w=weight[i, j]

sumvalue+=

sumweight+=w

outputnewly, x]=sumvalue/sumweight

output=outputold
cv2. imwrite ( output. bmp’, output)
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